




Discantus

Altus

Tenor

Vagans

Bassus

Pos
Řka
Poč
Ó

lán
zdrá
neš
Kris

-

-

jest
va
a
te

-

-

od
pl
po
pro

Bo
na
ro

nás

-
-

ha
mi
díš
vtě

-

-

an
los
sy
le

-

-

jel,
ti,
na,
ný,

-
-
-
-

je
toť
je

v ži

muž
jest
hož
vo

-

-
-

to
Bůh
to
tě

-

-
-

jmé
vzká
jmé
Ma

no
zal
no
ri

-
-
-
-

Ga
z vý
Pán
e-

-
-

Pos
Řka
Poč
Ó

lán
zdrá
neš
Kris

-

-

jest
va
a
te

-

-

od
pl
po
pro

Bo
na
ro

nás

-
-

ha
mi
díš
vtě

-

-

an
los
sy
le

-

-

jel,
ti,
na,
ný,

- -
- -

- -
- -

je
toť
je

v ži

muž
jest
hož
vo

-

-
-

to
Bůh
to
tě

-

-
-

Pos
Řka
Poč
Ó

lán
zdrá
neš
Kris

-

-

jest
va
a
te

-

-

od
pl
po
pro

Bo
na
ro

nás

-
-

ha
mi
díš
vtě

-

-

an
los
sy
le

-

-

jel,
ti,
na,
ný,

-
-
-
-

je
toť
je

v ži

muž
jest
hož
vo

-

-
-

to
Bůh
to
tě

-

-
-

jmé
vzá
jmé
Ma

-
-
-
-

Pos
Řka
Poč
Ó

lán
zdrá
neš
Kris

-

-

jest
va
a
te

-

-

od
pl
po
pro

Bo
na
ro
nás

-
-

ha
mi
díš
vtě

-

-

an
los
sy
le

-

-

jel,
ti,
na,
ný,

- -
- -
- -
- -

je
toť
je

v ži

muž
jest
hož
vo

-

-
-

to
Bůh
to
tě

-

-
-

jmé
vzká
jmé
Ma

- no
zal
no
ri

-
-
-

Ga
z vý
Pán
e-

-

-

Pos
Řka
Poč
Ó

lán
zdrá
neš
Kris

-

-

jest
va
a
te

-

-

od
pl
po
pro

Bo
na
ro
nás

-
- -

ha
mi
díš
vtě

- an
los
sy
le

-

-

jel,
ti,
na,
ný,

-
-
-
-

je
toť
je

v ži

muž
jest
hož
vo

-

-
-

to
Bůh
to
tě

-

-
-

jmé
vzká
jmé
Ma

no
zal
no
ri

-
-
-
-

Ga
z vý
pán

e-

bry
sos
Je
Pan

-
-

-
-
-
-











 

21. Poslán jest od Boha anjel

Benešovský kodex, ff. 18v - 19r
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